#56310 POLE TRAILER FOR R/C TRACTOR TRUCK

Scale: 1:14
Category: Tractor Truck

FEATURES:

* 5 ABS pipes included
« Features an aluminum chassis and four highly
detailed wheels

R/C SPARE PARTS & HOP-UP OPTIONS

53008 1150 Sealed Ball Bearing (4 pcs.)

53012 3x10mm Titanium Round Head Screw (10 pcs.)
53013 3x15mm Titanium Round Head Screw (10 pcs.)
53014 3x20mm Titanium Round Head Screw (10 pcs.)
53015 3x8mm Titanium Tapping Screw (10 pcs.)

PART # DESCRIPTION

4005080 Chassis (L & R)

3585085 Pole (A, B, C)

9415584 Table Plate (A & B)

6605005 Crosstie (Thick & Thin, 2 pcs. each)
6095011 *3Pipe (1 pc.)

0005742 A Parts (A1-Al17) 53019 3x18mm Titanium Countersunk Head Screw
0005743 B Parts (B1-B12) (10 pcs.)
0005744 *1C Parts (C1-C17, 1 pc.) 53022 3mm Aluminum Lock Nut (10 pcs.)

53024 4mm Aluminum Flange Lock Nut (10 pcs.)

53029 1150 Sealed Ball Bearing (2 pcs.)

53095 3x10mm Titanium Tapping Screw (10 pcs.)

53159 4mm Anodized Aluminum Flange Lock Nuts (Blue)
53160 4mm Anodized Aluminum Flange Lock Nuts (Red)
53161 4mm Anodized Aluminum Flange Lock Nuts

0115171 Orange Parts (S1)
0115106 *1Red Parts (S1, 1 pc.)
0445258 *2V Parts (V1 & V2, 1 pc.)
0445742 Floor Panel

9805456 *2Tire (2 pcs.)

9415578 Metal Parts Bag A

9415579 Metal Parts Bag B (Gold)

9415580 Metal Parts Bag C 53162 4mm Anodized Aluminum Flange Lock Nuts
9415581 Metal Parts Bag D (Black)

5395056 Joint Ring (MA1) 56301 1/14 Tractor Truck King Hauler

56304 1/14 Tractor Truck Globe Liner
56305 1/14 Tractor Truck Mercedes-Benz 1838LS
56309 1/14 Tractor Truck Ford Aeromax

3455472 Center Post (MA3)
4305436 Pole Holder (MA4)
9805584 3x32mm Screw (MA5 x4)

50577 3x10mm Tapping Screw (MA10 x10) 56502 Semi-Trailer Light Set
50573 2x8mm Tapping Screw (MA12 x10) 56503 Tractor Truck Oil Shock (2 pcs.)
50593 4x6mm Flange Tube (MA13 x5) 56509 Truck Aluminum Rear Wheels (2 pcs.)

2220001 3mm Lock Nut (MA15 x1)

9805460 Leaf Spring (MB9 x2)

0555015 1150 Plastic Bearing (MB20 x10)

9805337 *1Wheel Hub (MC6 x2)

9805557 4mm Flange Lock Nut (MC9 x4)

9805613 Joint Stopper & Joint Catcher (MD2 & MD5)
9805614 Threaded Hook (MD4 x16)

*1 Requires 2 sets for one car.
*2 Requires 4 sets for one car.
*3 Requires 5 sets for one car.

50197 Snap Pin Set (MD6 x10, Small x5)

9805574 3x18mm Screw (MD7 x2)

50578 3x10mm Countersunk Tapping Screw (MD11
x10)

4305441 Chassis Plate
4305437 Turn Disc
9445990 Chain (2 pcs.)

50595 Nylon Band w/Metal Hook (10 pcs.)
87025 Ceramic Grease

9495327 Sticker & Double-Sided Tape
1055917 Instructions

D=discontinued

Tamiya America, Inc.

2 Orion, Aliso Viejo, CA 92656

(949) 362-2240 Fax: (949) 362-2250
TAMIYA Consumers: (800) TAMIYA-A

Dealers: (800) 5-TAMIYA




